Maths Brain-Teasers

How can you add eight 8's to get the number 1,000? (only use addition).

Two Fathers and Two Sons Riddle

Two fathers and two sons sat down to eat eggs for breakfast. They ate exactly three eggs, each
person had an egg. The riddle is for you to explain how.

The Merchant

A merchant can place 8 large boxes or 10 small boxes into a carton for shipping. In one shipment,
he sent a total of 96 boxes. If there are more large boxes than small boxes, how many cartons did he
ship?

Crossing the River

A farmer is trying to cross a river. He is taking with him a rabbit, carrots and a fox, and he has a
small raft. He can only bring 1 item a time across the river because his raft can only fit either the
rabbit, the carrots or the fox. How does he cross the river. (You can assume that the fox does not eat the

rabbit if the man is present, you can also assume that the fox and the rabbit are not trying to escape and run away).



